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QUESTION 1
You have a table named Product. The Product table has columns for ProductDescription and ProductCategory.
You need to change the ProductCategory value for all the spoons in the Product table to 43.

Which statement should you use?

A.  UPDATE Product
3ET ProductCatzgory = 43
FHERE ProductDescription = 'spoon'

BH. SET Product
WHERE ProductD=scription = 'spoon'
TO ProductCategyory = 43

. TUEDATE Product

——

WHERE ProductDescription = 'spoon!
3ET ProductCatzgory = 43

D. SET Product
I0 ProductCatejory = 43
FHERE ProductDescription = '"spoon'
A. Option A
B. Option B
C. Option C

D. Option D

Correct Answer: A

QUESTION 2

The following illustration shows the structure of a clustered index in a single partition:
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Instructions: Use the drop-down menus to select the answer choice that completes each statement Each correct

selection is worth one point.

Hot Area:

Answer Area

A clustered index improves the performance of
gueries that [answer choice].

A clustered index improves the performance of
queries on columns that [answer choice].

Correct Answer:

returm large result sets

return a range of values by using the = operatar

do not use ORDER BY or GROUP BY clauses

are accessed randomly
are accessed sequentially

are not unique or contaim many common values
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Answer Area
A clustered index improves the performance of v
queries that [answer choice]. return large result sets | _

return a range of values by using the = operator

do not use ORDER BY or GROLIP BY clauses
A clustered index improves the performance of v
queries on columns that [answer choice]. are accessed randaomly

are accessed sequentially |

are not unique or Contaim many comman vallies

QUESTION 3

You assign Userl a set of permissions that include the WITH GRANT OPTION. The WITH GRANT OPTION enables
Userl to:

A. request a log of permission use.

B. delegate permissions to other users.
C. create new database users.

D. view other users\\' permissions.

Correct Answer: C

QUESTION 4

Data in a database is stored in:
A. Tables

B. Queries

C. Data types

D. Stored procedures

Correct Answer: A

QUESTION 5
Your database contains a table named Customer.

You need to delete the record from the Customer table that has a CusromerID of 12345.
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Which statement should you use?

A, UPLRIE
DELE
WEERE CustomerID

Customer
"

T "

12345

B DELFIE CustomerID
FECHM Customer
WEERE CustomerID

12345

(., UPDATE CustomerID
FEOM Customer
DELETE #
WEERE CustomerID = 12345

D. DELETIE FROM Customer
WEERE CustomerID = 12345

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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